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= P PR e w R %5
1 |383H| - | 0900 A |RY 93 e VS % AR
2 |33 | - | 1030 | A |mevse| srm¢ VS (‘Ba“';’i:\
3 [3H3H | - 1330 A |RPIFe| w3 VS r AR
4 |3H3H | - 1500 A |RPIFe| Prme & Rl
5 | 3H4H | - 1030 A |gP93e| 4s-7¢ &S %3¢
6 | 354H | - 1330 A |gP33e| +@Ez° VS o
7 | 384H | = 1500 A |z 73% SEIE- 3 &S Exe g
8 |3H5H | = | 0900 A |RY?73% Nk VS & PR
o [3psp| = | 1030 | A |meose| <ame vs ATFC
(B¢ 21)
10 | 385H | = | 1330 A |RYIFe| zsR VS mAERY
11 | 385H | = | 1500 A |RYIFe| THR VS 7R
12 | 3H6H | = 1030 A |37 938 ALFe VS BRCE
13 | 3H6H | = | 1330 A |73 3% &S KL v
14 | 3H6H | = 1500 A |BP 93w Ex‘H VS R
5 370 | 7 | o000 | A |mevsm| agme vs ATFT
(B¢ 2%)
16 [ 3H7H | = 1030 A [R?PI 3 2 R VS S S EY
17 |387H | 7 | 1330 A |RYIFe| s & TR
18 | 3H7H | = 1500 A [R?93% AR VS AR
19 | 3898H | = | 1030 A |gP33e| ~i¢H VS L TR
20 [ 3H8H | = 1330 A |B® 93 Airg ¢ VS g
21 | 3H8H | = | 1500 A |grP33e| =zZ2R*E VS NEE- R
22 |3H9H | n» | 0900 A |R* 7?3 A% VS B% 5.6%
23 | 3H9H | & 1030 A |R* 7?3 Az VS B
24 | 3H9H | & 1330 A |R* 7?3 B VS AT
25 [3510H| — | 0930 A |RY+3e xR VS ¥ N2k
26 [3510H| - | 0950 A |RPL3e %4 R VS il
27 [3810H]| - 1030 A |#°93e|AL VS B2| %
28 [3510H]| - 1230 A |RPL3e L VS hE Ak
29 [3510H]| - 1250 A |RPL30 LR VS AR ¢
30 [3510H]| - 1330 A |[3°¢93%|Bl VS C2| W
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31 [3510H]| - 1440 A |RY+3a AL VS 7R e

32 [3510H]| - 1510 A |g793%|CL VS A2l A E
33 [3511H| - | 0930 A R+ LALR P VS TR

34 [3511H| - | 0950 A |R®+3e LH R VS 7R

35 [3B11H]| - 1230 A |R®+3e P \'E NP

36 [3511H| - 1250 A |R®+3e PR VS a2

37 [3B11H]| - 1330 A | E¥ 95 |23 VS 24pc| % B E
38 [3511H]| - 1440 A |RY+3a A VS LR

39 [3511H]| - 1510 A | ®*® 7?3 |23% VS 247% | =~ I &
40 |3H12H| = | 1030 A |&7 93%|B2 VS C3| 4k
41 |3H12H| = | 1330 A g7 93e|C2 VS A3l i E
42 |3H12H| = | 1500 A &7 973%|A2 VS B3| ik
43 |3H14H| = 1030 A |z793%e|C3 VS All A%
44 |3814H| = 1330 A |&7 973 % |A3 VS Bl 4%
45 |3H14H| = 1500 A |&7 93 %|B3 VS Cll ##%
46 |3H16H| p 1030 A |z793%e|C3 VS A3| 7-9 & i %
47 |3H16H| »p 1330 A |&7 93%|B2 VS C2|4-6 & -
48 |3816H| n 1500 A | 3¢ 73 |Al VS B1|1-3 & - %
49 |3818H| = 1030 A | 3¢ 73 |A3 VS B3| 7-9 & i- %
50 [3518H| = 1330 A | 3% 73e|C2 VS A2| 4-6 £ i+
51 [3818H| = 1500 A | 3¢ 73%|Bl VS Cll1-3 &%
52 [3520H| = | 1030 A | %% 73%|B3 VS C3| 7-9 & i-#
53 [3520H| = | 1330 A |37 973%|A2 VS B2| 4-6 £ i-
54 [3520H| = | 1500 A | 3¢ 73e|CL VS ALl 134 ik




